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How many squares can you
see in this pattern?

How many rectangles are
there?
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How would yvou find the distance between the coins and beads?
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The Distance Formula allows you to find the distance between two poinfs. The subscripts (x1, y1) only
indicate that there is a first and second point. However, whichever point is first or second is up fo you.

1. Find the distance between (1, -2) and [ 3, 6). 2. Find the distance between (-2, -3) & (-4, 4).
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3. Use the distance formula to find the value of
x if the distance between (1, 2) and (x, 5) i
units. X (\j‘ Xl :92

D = {(x-01(5-2

5% (7 )

March 27, 2017

4. Use the distance formula to find the value of
y if the distance between (-1, 4) & (5, y) is 10
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How would you find the midpoint between the coins and beads?
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The Midpoint Formula allows you to find the midpoint or center between two points.
N+X B+, J

Midpoint Formula: s
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5. Find the midpoint between (1, -2) and (-3, é). 6. Find the midpoint between (6.4, 3) and (-10.7, 4).
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7. M is the midpoint of segment AB. The coordinates of A are (-2, 3) and the coordinates of M are (1, 0).
Find the coordinates of B.
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8. B is the midpoint of segment AC. The coordinates of A are (-10, zﬂswd the coordinates of B arg 52 A

Find the coordinates of C.
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